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2N HREAD

HE: -RH IS ES(LNBIYT /AU H)

Col: M5 AR A (el d e
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
OZB22 23 W8 ¢ USE 2Y ( 1,500) | ( 8,750) ] ( AT7,250)
= 02 ( 0)]( 4,250) | ( ~4,250)
== 0 [( 0)|( 3,000) ] ( A3,000)
Y NP5 AT (LUSIHY /LB 6,116,834 5,010, 161 1,106,673
= 26,766
[ 79,240
Al 6,010,828
MB35 2H HEAY =X 1,546,617 1,111,396 435,221
= 26,766
[ 79,240
Al 1,440,611
HHMMFY B3 748,485 543,400 205,085
201 LEr29y 114,250 94,000 20,250
01 Ar22eldl 114,250 94,000 20,250
2 0il A 114,250 94,000 20,250
oa8 smr2g 114,250
— Bt220141LA 74,250,000€ 74,250
—428 S/W 40,000,0002 40,000
405  RHAHE SHI 634,235 449,400 184,835
01 RALESEFSH 634,235 449,400 184,835
2 0il A 634,235 449,400 184,835
O-% MAFH DA 587,010
- 2EH 500,000,000& 500,000
—Telg 565,000 * 154CH 87,010
O % =2z A M2t ZHl 2 47,225
- 2EH 1,200, 0008 »37CH 44,400
—Telg 565,0002 *5CH 2,825
HESMAAL SsHA 400,000 257,550 142,450
405  XAHFE SHI 400,000 257,550 142,450
01 RALSEFSH 400,000 257,550 142,450
20l & 400,000 257,550 142,450
OXFBSAAALY HSHA A 400,000
— 2 AL 160,000, 0002 «2CH 320,000
—ESAAAR 4,000,0002 *20CH 80,000
SESX0 HBAAH R 25,000 97,000 AT2,000
201 Ler29y| 5,000 0 5,000
01 At2zteldl 5,000 0 5,000
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SA BB (AH) - HBAY - BA= (X o) ) HDE 2
= 0l & 5,000 0 5,000
OPCAHAF 22| S A AE A0l MA 2
5,000,000& 5,000
405  RhAHHE S 20,000 97,000 AT7,000
01 XA&LSSFHSHI 20,000 97,000 AT7,000
= 0ff &F 20,000 97,000 AT7,000
OPCRHAH 22| SEIAIAE A WX
20,000,000& 20,000
HESA AISE 3 A 12,096 2,880 9,216
201 Et2I| 7,296 0 7,296
02 2294l 7,296 0 7,296
= 0l & 7,296 0 7,296
OFESAAZHEIAIEE =7 A E =4I 7,296
— 23 =4I| (0TX-1800) 66,000, 000& *6% 3,960
— &S24 7((1950) 28,000, 000& *6% 1,680
— A S YMI[(1800) 23,200, 0003 *6% 1,392
—SXNME=ED| 4,400,000 *6% 264
202 Ol 4,800 2,880 1,920
01 =LHObI 4,800 2,880 1,920
= 0l & 4,800 2,880 1,920
OAMNEE ZAYSR &4A 2F 0l
0,000& x5 «12& 4,800
Qg ZEANLE &5 44,000 45,500 A 1,500
= 13,200
= 9,240
Al 21,560
401 A&BIZ =208 44,000 40,000 4,000
= 13,200
= 9,240
Al 21,560
01 Al&HI 44,000 40,000 4,000
= 13,200
& 9,240
Al 21,560
= 0l & 69,000 40,000 29,000
= 13,200
& 16,740
Al 39,060
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SA BB (AH) - HBAY - BA= (X o) ) HDE 2
O EHY =5 284D Wil
44,000,000& 44,000
= 13,200
= 9,240
Al 21,560
OUYRABEANLE & F 2HHT WA
25,000,000& 25,000
& 7,500
Al 17,500
=313 ( 44,000) 69,000) A 25,000)
(& 9,240) 16,740) A7,500)
(Al 21,560) 39,060) A 17,500)
OQYRABEAE &5 2EET WA 0& |( 0) 25,000) A 25,000)
(& 0) 7,500) A7,500)
(Al 0) 17,500) A 17,500)
AN 38018t S &H WAHAS 39,826 39,826 0
= 9,376
Al 30,450
201  LBt249| 39,826 39,826 0
= 9,376
Al 30,450
01 AtSR2t2ldl 39,826 39,826 0
= 9,376
Al 30,450
= 0l & 39,826 39,826 0
= 9,376
Al 30,450
OANZF 28It &4l uH & 32
ot 2StAtY 39,826,000& 39,826
= 9,376
Al 30,450
A7 XH@H%?;U&E:’“ FE(AXSH SEHOHU 18,115 24,479 A6,364
SHH 2=X&
= 4,190
Al 13,925
201 et 49H| 18,115 24,479 A6,364
= 4,190
Al 13,925
01 At 2eltl 18,115 24,479 A6,364




SN

M HAE AP HUASH(YPVD DA /UDIHE)
Cel: B3 B8 HAAMY =X S
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES (ZE o) (I o) Hns2
01 At Z2lH| =2 4,190
Al 13,925
=2 0f| At 18,115 24,479 AB,364
= 4,190
Al 13,925
OANZR HENSAALY HWHERHMHA 2
= 18,115,000 18,115
=2 4,190
Al 13,925
N2 HHERHH AMTHALME = 22 9,095 12,340 N3,245
308 XXESHSOH 9,095 12,340 N3,245
07 RXSH2LEZ 9,095 12,340 NA3,245
=0 & 9,095 12,340 A3,245
OANZR HAHZSIHMH AZTHALME 2=
2e32 9,095,000 9,095
RIS A LA 100,000 0 100,000
401 Al&HI 220 100,000 0 100,000
01 Al&dl 100,000 0 100,000
=0l At 110,000 0 110,000
OT N2 XIS AY MEAS
110,000,000 110,000
=313 ( 100, 000) 110,000) 210,000)
OZANZ XINHENY NEAY
100,000,0002 | ( 100,000) 110,000) A 10,000)
DIt FEAE SEBT DAY 25,000 0 25,000
[= 7,500
Al 17,500
401 Al H L2 25,000 0 25,000
[ 7,500
Al 17,500
01 Al&dl 25,000 0 25,000
[= 7,500
Al 17,500
=313 ( 25,000) 0) 25,000)
(= 7,500) 0) 7,500)
(Al 17,500) 0) 17,500)
OOIEAEBAL &5 @uHT D
25,000,000 | ( 25,000) 0) 25,000)
(= 7,500) 0) 7,500)
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ciol: HeEs @ _ CERE
SN HE B (BA) - MEAY - BHAS ggi) @(ijf;lﬁ% HRE2
| | (A 17.500)] ( 0) 17.,500)
2E22HAHANL(Wi-Fi)PE AEAE 125,000 0 125,000
= 62,500
Al 62,500
401 AIEHIZL204H] 125,000 0 125,000
= 62,500
Al 62,500
01 Al&HI| 125,000 0 125,000
T 62,500
Al 62,500
=& 13 ( 125,000) | ( 0) 125,000)
(= 62,500) | ( 0) 62,500)
(Al 62,500) | ( 0) 62,500)
OZZRUAHALWi-Fi) 25 AlBAL
125,000,000 |( 125,000) | ( 0) 125,000)
(= 62,500) | ( 0) 62,500)
(Al 62,500) | ( 0) 62,500)
HEEA AMAE A2 3,712,461 3,502,297 210,164
HEAAEH 29 L A2 1,534,646 1,211,662 322,984
201 E294| 1,332,795 990,674 342,121
01 At2R22lyl 278,774 92,909 185,865
=0 4 278,774 92,909 185,865
OHoIMERIEH A2F el 169,900
— ORI B (M)
70,000& x7850H *23] 109,900
—dO0IMERE S CH(HE)
160, 000& *2500H *1.53] 60,000
ODAEEI 428 7
134,000& *100CH *2.53] 383,500
OXAEH =222 7Y 75,374
— 2 EH 1,183,070& *3,810CH *1.5% 67,613
— T 2lH 659, 039& *785CH *1.5% 7,761
02 =249l 1,054,021 897,765 156,256
= 0l & 1,130,700 897,765 232,935
OPC A BRIEBAAL SAR2H 28,700
— SWs Xl 22l bl 110,000, 000& *12% 13,200
~NBATZESO 0B 2= HERAS
6,200& *2,500H 15,500
OXALEHl S X228l 303,687,000& 303,687




2M: SSA
B WA HEe Vs (YD /YNAE)
thel: FESA AAE S22 (CHe &)
M- =8 a9 (3) - HEAY - a2 (ggz::) @(ijf;ﬁ% HRE2
OAMHEE S22yl 533,395
—HW(Z=HEAHD|, 8 HAEY S)
3,221,488,000& *7% 225,505
— SW(DBMS,BHA AT E Y S)
1,741,548, 000& *12% 208,986
— QIABI(ZES2I= X 121), MAHI
8,241,920& x12& 98,904
OM2EE SX 22yl 6,211
—Sgz0l 25,777 ,300& *12% 3,094
—M2EZE 25,972, 700& *12% 3,117
ONA MAIAE S22
24,387 ,563& *12% 2,927
O=g) sgae dxzs 255,780
— 2 275,000& 570 = 12& 188, 100
— = 120,000& =47CH = 12& 67,680
=Z13 ( 1,054,021) 1,130,700) NT6,679)
OPC XHat2te| S AIAE S X 22|l ( 25,300) 28,700) A3,400)
— SWs Xl &2l Hl 12,300, 0002 |( 12,300) 13,200) A 900)
—M2ATEY0 B 2 HRAZ
13,000,000€ |( 13,000) 15,500) A2,500)
Od&HEH |A22ldl 263,687,000 |( 263,687) 303,687) A 40,000)
ONHEE RA 22l ( 500, 116) 533,395) A33,279)
—HW(F=E A, 8 HEEY S)
192,226,000& |( 192,226) 225,505) A 33,279)
203 YRF=&4| 3,200 3,400 A 200
03 AIBZ=XSRF=AH| 3,200 3,400 A 200
= 0l & 3,200 3,400 A 200
OFBSIAIY =X 3,200,000 3,200
308 AXEHMSOIA 193,389 217,588 A 24,199
10 SI2SHUSZEAAEUHAIS I 193,389 217,588 A 24,199
= 0l & 193, 389 217,588 N24,199
OSSIIEt dAFH RA224]
141,176,000& 141,176
OANZF? THollEFRAAE BHAMEH A2
2l bl 8,564,000 8,564
OXNUHMZETHZAIAE HHIAQAT 2
A 6,160,000& 6,160
O2-UetAlA8 X 2eldl 37,489
— 2-Li2tAlA28 29 XI&4Hl 20,000,000 20,000
— 2 Al £ 2t (DRM) 147,188, 000& *10% 14,719
— oI EESERH 27,700, 000& *10% 2,770




2N 2SI
B WA HEe Vs (YD /YNAE)
CHe: BESA AAE SX22 (e &
SN HE B (BA) - MEAY - BHAS (ggj) @(ijf;ﬁ% HRE2
403 X XISHAHSKH=201H 5,262 0 5,262
02 Z2J2SHUStASEUE A I 5,262 0 5,262
= 0l & 5,262 0 5,262
SQEQDOIAAEY X122 5,262,000& 5,262
W- -2 WER3 D& AHMUA M2 1,318,877 840,468 478,409
201 282 A | 1,318,877 840,468 478,409
01 AR 22|yl 4,500 928 3,572
= Ol & 4,500 928 3,572
OSAEH A28 7Y 4,500
— SN ARE 1,500, 000& *33] 4,500
02 33294l 1,314,377 839,540 474,837
= Ol & 1,314,377 839,540 474,837
OF3EBESA &b 566,874
Ol Yl 3l 4,873,000 x12& 58,476
AUING SEH= 22,918,000& = 12& 275,016
SUHE MEE 777,000& x12& 9,324
N3N SEAEE 16,696,000 128 200,352
SHAFAHI IS 605,000& 128 7,260
BINANSZ (HHTILL)
500& *1,304%12& 7,824
- 3IANES(RESAHDI)
1,500 479 x12& 8,622
BENHEE KA 22| 686, 101
Ol (IP) & D] 591,516,010& *6% 35,491
I U (IP)X 3D 592,815,000 *6% 35,569
HWEKT 2 S35EH|(VPN)
308,599, 326 & *7% 21,602
HES® 3 &Hl 2,499,533, 000& *6% 149,972
NSESES2MAIAE 124,517,000 *6% 7,472
252 2ZA AIAE 102,700, 000& *6% 6,162
HIESIT 22l AlAE(NMS)
122,590, 500& *6% 7,356
QI U EEEHAAE(QoS)
86,300,000 *6% 5,178
[Pl Al A &l 91,261,000 *6% 5,476
HEARE KIS AS
1,761,202,000& *6% 105,673
SAASHAIAE 243,735,380& *7% 17,062
PSS Al AE 136, 136, 000& *6% 8,169
D2 AFE D] (FAX) 44 ,241,790& *6% 2,655




SN

HH: N U U (YNBTHE/LYHE)
CHe: BESA AAE SX22 (e &
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;lﬁ% HRE2
— HAANS HEEAIX] 8,657,550& *6% 520
— 2HAEE KA (UPS) 208,645,540& *6% 12,519
—sestsll(0sS0te) 60,416,580 *6% 3,625
—IUHSAAHZ X222l
21,800,000& =124 & 261,600
O2220/00l X224
252,702,000 *8% 20,217
Oolere AEAIE S22l 40,717
—FES (1400 N) 661,835,000 *6% 39,711
— U2 H B (20 A) 16,759,000 *6% 1,006
OolEABEBAIE I3
39,000 x 1 A x12& 468
ANZE SHOIXK & 25 EA0IE &2 667,495 598, 201 69,294
201 AE2AH| 578,517 588,201 N9,684
02 =249 578,517 588,201 N9,684
= 0l & 578,517 588,201 N9,684
O8HEA QHUANHA S8 SX2EHI(E
E PN E=PND] 499,958,000& 499,958
Od &Hl & £24 X22/H(95) 35,413
— o1 (&) 44,100, 000& *8% 3,528
— &2 A 40,560, 000& *12% 4,868
—gZzIEA 14,000,000& *x12% 1,680
—SE&3M 49,210, 000& *12% 5,906
—Sgz0l 70,600, 000& *12% 8,472
—22LIHE 46,323, 000& *12% 5,559
— 2 Aes 20,350, 000& *12% 2,442
— & X 2H 15,246,000 *12% 1,830
—2AEN 22,550,000& x12%*5/12& 1,128
O AAE KA 22|
251,100,000& *12%* 1.1 33, 146
ODNHZA|AAE I sIAH| 10,000,000& 10,000
301 oty Al 6,000 10,000 4,000
11 JIEIEA 2 6,000 10,000 A 4,000
= 0ff &F 6,000 10,000 A 4,000
OZMHOIXl OlX 0OtLelXl BEAZ2 X2
5,000& %1,200H 6,000
405  XHaHFE S| 82,978 0 82,978
01 MM =SSFHSH 82,978 0 82,978
= 0l & 82,978 0 82,978
OCHYAHIA SEHAIAMAE ZH| 04 82,978




SN BRSAD
B WA HEe Vs (YD /YNAE)
9l BEESA AAH 2K 22 (crol me
SA BB (AH) - HBAY - BA= o) ) HDE 2
— WA HEEX 38,000,000 *1CH 38,000
— e 2ol A 3,000,000 *2H 6,000
— W HIEX 38,978,000 = 1CH 38,978
FEME MUlA 191,443 175,181 16,262
201  Et2I| 191,443 175,181 16,262
02 2=2gH| 191,443 175,181 16,262
= 0l & 191,443 175,181 16,262
O2Q & NMHIA =25 12,210
— EHO0IX 55 x18,00024 x12& 11,880
— M2 330,000 =14 330
ONIBEESE BoMEBIA AIBE
792,000 *24] 1,584
OFUE 2UAEHA AIEZ 177,649
—HEes 9.9&*217,57921x12& 25,849
- 3E2ES 25.3& x100,000Z 53| «12& 151,800
2235 23 857,756 393,718 464,038
gor s/w 2 96,246 124,296 A 28,050
201  LEt2I| 96,246 124,296 A 28,050
01 At 2eltl 96, 246 124,296 A 28,050
= 0l & 96,246 124,296 AN 28,050
QA 2 oHIE HAHE S/ P 96,246
—PC Sl 21,570 +3,000CH 64,710
—ANHE HA(AER) 291, 130& *=50CH 14,557
— ANHE #Ha(2s2A) 1,650, 000& *5CH 8,250
— AN H 2l 929, 4003 *3J4 2,789
— WPC X210l 39,600, 000& *15% 5,940
FEEoEH 21408 ¥ SANE=S 148,730 143,488 5,242
201 et g| 148,730 143,488 5,242
02 2E2gH| 148,730 143,488 5,242
= 0l & 148,730 143,488 5,242
OFEESANAE S22l 148,730
— HW(194!) 778,764 ,000& *8% 62,302
— SW(134!) 720,233,000 *12% 86,428
FEES =gt 23 612,780 125,934 486,846
201  etg| 29,600 35,800 6,200
01 At 2e2ldl 11,600 5,800 5,800
= 0l & 11,600 5,800 5,800
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FA EESH
X

B WA HEe Vs (YD /YNAE)
thel: ¥EES &5 (cte ®
SN HE B (BA) - MEAY - BHAS (ggz::) @(ijf;lﬁ% HRE2
ONeIEEES 1= 5,800
— 2 AbH] 300,000 x63] 1,800
— Wbl 2,000& *2,000 4,000
OdBEEotN= 5,800
— 2 AbH] 300,000& *63] 1,800
— Wbl 2,000& *2,000 4,000
02 =324l 18,000 30,000 A 12,000
= 0l & 20,000 30,000 A 10,000
ONeldEES A B8 20,000,000 20,000
=213 ( 18,000) | ( 20,000) | ( A2,000)
O dEY s HiAd B& 18,000,000 |( 18,000) | ( 20,000) | ( A2,000)
303 A= 1,500 0 1,500
01 ZAZ 1,500 0 1,500
= 0l & 1,500 0] 1,500
OFRAN HFEE20EE 2424 A& 1,500
— X2 700,000& *1JH & M 700
-2 = 500,000& x1JH £ A 500
-& 4 300,000& *1JH & M 300
405  XHaHFE S 581,680 90,134 491,546
01 XML =SS FSHI 581,680 90,134 491,546
= 0l & 485,900 90,134 395,766
Ot AH 2or&EH F2¢ 50,000, 000& 50,000
OANH tERA(MHE) 2= 264,900
— ™Y X HAIAEL
45,000, 000& *2A! 90,000
— NHE HAUISHAIAEH 59,900,000& 59,900
— ANBHE BHEALX 57,500,000 x24! 115,000
OEQHUSBAIAE 2 0lE 41,000
— 5H0oHSB & A& 22,000,000& 22,000
— 52 0oHUSB Ol 2 2| 38, 000& *500H 19,000
ODDos IS &Hl A 40,000,000& 40,000
OsY, 289 2022 AIAE WX
28,000,000& x24! 56,000
OARL FAYX AIAE WA
34,000,000 34,000
=213 ( 581,680) | ( 485,900) | ( 95,780)
ONH HEIRA(MHE) 2= ( 214,900) | ( 264,900) | ( A50,000)
— ANHE B2 A2X 65,000,000 |( 65,000) | ( 115,000) | ( A50,000)
OAUHIDE XHAIAY 2= ( 145,780) | ( 0)] ( 145,780)

_11_




SN

B WA HEe Vs (YD /YNAE)
oo 3EES &3 CEERED)
SA BB (AH) - HBAY - BA= (X o) ) HDE 2
—SE2HAAE 10,780,000& |( 10,780) 0) 10,780)
— ALEXS/W 54,000 *2,5000H |( 135,000) 0) 135,000)
23 oI 0 2,750 AN2,750
2B EUHE M= 0 2,750 A2,750
201 eI 0 1,050 A 1,050
01 AFSR2t2ldl 0 1,050 A 1,050
= 0l & 1,050 1,050 0
OFESANACIHE EMAY =
70,0003 «15H 1,050
=313 ( 0) 1,050) A1,050)
OCHEBSXNACUS EHAY =Y 0& |( 0) 1,050) A1,050)
303 A= 0 1,700 A 1,700
01 ZAZ2 0 1,700 A 1,700
= 0l & 1,700 1,700 0
OHBSNACIUS LAX AaZ 1,700
— 1% 500,000 *1H 500
— 29 300,000 «2H 600
— 3% 200,000 «34H 600
=& 13 ( 0) 1,700) A1,700)
OZESANACIHS L&t AlMZ ( 0) 1,700) A1,700)
— 19 0& |( 0) 500) A500)
— 29 0& |( 0) 600) A600)
— 39 0& |( 0) 600) AB00)
HHSAHU(FE2SA D) (IIEHIIE 90, 120 57,120 33,000
Jl23tl 90,120 57,120 33,000
Jl=Z&l 90, 120 57,120 33,000
201 LBty 36,720 22,680 14,040
01 AFR22lYl 36,720 22,680 14,040
= 0ff &F 36,720 22,680 14,040
OfMd2ZJI23| 36,720
— 2Bt~ =H| 40,0002 x349 =12 16,320
— = 2l 50,000& x34Z =12 20,400
202 Ol 48,960 30,240 18,720
01 =AYl 48,960 30,240 18,720
= 0ff & 48,960 30,240 18,720
Oog2F&I|I20d| 120,000 x34H « 123 48,960
203 YRFAH| 4,440 4,200 240

_12_
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